
A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

SAP-ENTERPRISE-A2-2016-3RD.FRM

TITLEDRAFTER

ENGINEER DOCUMENT NO.

SHEET

SIZE SCALE

COMMSCOPE, INC.
GILBERTO VILLA FGS KIT,18" 45 DEG UP ELBOW

RUBEN ARVILLA

 

A2
 

1/8 660106360

 CUSTOMER DRAWING
REVISION  

1  OF 2A   

  ASSEMBLY INSTRUCTIONS:
 
1 . INSERT (4) HEXAGONAL HEAD SCREW 1/4-20 INTO THE WALL TAB HOLES ON
    THE ADAPTER, ONE SCREW PER TAB, WHIT THE SCREW

    HEADS ON THE INSIDE OF THE ADAPTER. SEE DETAIL A .
 
2 . INSERT (8) ROUND HEAD SCREW 1/4-20 INTO THE WALL TAB HOLES ON
    THE ADAPTER, ONE SCREW PER TAB, WHIT THE SCREW

    HEADS ON THE INSIDE OF THE ADAPTER. SEE DETAIL B .
 
3 . ASSEMBLY THE (12) PLASTIC KNOBS AND TIGHTEN THE
    KNOBS COMPLETELY
 
 4. SLIDE THE TABS WHIT THE ASSEMBLED SCREW COMPLETELY INTO
    THE T-CHANNELS ON THE 18" FIBERGUIDES STRAIGHT SECTIONS.
 
   .

SCALE 3/16

SCALE 1/4

SCALE 1/4

 REF19.820

 REF5.119

REVISIONS

REV CMO DATE APPROVED

A 40204794CMO 03-OCT-2024 GVR

PART LIST
DESCRIPTION QTY

FGS KIT,18" 45 DEG UP ELBOW 1

KNOB, PLASTIC FGS 12

HEXAGONAL HEAD SCREW 1/4-20 4

ROUND HEAD SCREW 1/4-20 8

45 DEG UP ELBOW,COVER,CRS 0.06,FGS 18" 1



A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

A

B

C

D

E

F

G

H

2 31 4 5 6 7 8 9 10

SAP-ENTERPRISE-A2-2016-3RD.FRM

TITLEDRAFTER

ENGINEER DOCUMENT NO.

SHEET

SIZE SCALE

COMMSCOPE, INC.
GILBERTO VILLA FGS KIT,18" 45 DEG UP ELBOW

RUBEN ARVILLA

 

A2
 

1/8 660106360

 CUSTOMER DRAWING
REVISION  

2  OF 2A   

SCALE 1/4

SEE DETAIL A

SEE DETAIL B

DETAIL A
SCALE 3/4

DETAIL B
SCALE 3/4


	Sheet 1
	Views
	new_view_1
	new_view_2
	new_view_3


	Sheet 2
	Views
	new_view_5
	A
	B



